30/06/14

THM 415: Finance

Midterm Exam

1. What are the responsibilities of “Treasurer”? (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

2. Deniz Holiday Village had recorded the following income statement accounts sorted in alphabetical order:

	Cost of Goods Sold
	$3,144,777.00

	Interest Expenses
	$233,879.00

	Operating Expenses
	$675,675.00

	Sales
	$6,750,455.00


Moreover, since Deniz Holiday Village owns 73 % shares of Dondur Company, it is entitled to $ 814,672 of dividends income from that very company.

The following table reveals Income Tax Rates for Corporate Income for 2013 fiscal year:

	Taxable Income
	Marginal Tax Rate

	
	

	$ 0 – $ 150,000
	20%

	$ 150,001 - $ 375,000
	23%

	$ 375,001 - $ 875,000
	25%

	$ 875,001 - $ 1,025,000
	27%

	$ 1,025,001 - $ 1,985,000
	30%

	Over $ 1,985,000
	33%


Lastly, the following table shows dividend income exclusion to avoid double taxation at corporate level.

	Ownership Interest
	Dividend Exclusion

	 
	

	Less than 25 %
	25%

	25 % to 45 %
	55%

	45 % to 65 %
	75%

	65 % to 82 %
	88%

	83 % and more
	100%


a) Construct Deniz Holiday Village Income Statement for the year ended December 31st, 2013. (3 Points)

Moreover, the following is Deniz Holiday Village’s comparative balance sheet as of December 31st, 2012 and December 31st, 2013:

	Deniz Holiday Village

	Comparative Balance Sheet

	As of December 31st, 2012 & December 31st, 2013

	
	
	
	

	
	2012
	2013
	Change

	Assets
	
	
	

	  Current Assets
	
	
	

	Cash
	$2,250,400
	$2,600,300
	$349,900 

	Marketable Securities
	$245,600
	$278,500
	$32,900 

	Accounts Receivable
	$375,890
	$340,800
	($35,090)

	Inventory
	$400,001
	$525,000
	$124,999 

	Other Current Assets
	$25,456
	$35,700
	$10,244 

	  Total Current Assets
	$3,297,347
	$3,780,300
	$482,953 

	Gross Plant & Equipment
	$2,025,000
	$2,899,000
	$874,000 

	   Accumulated Depreciation (less)
	$789,630
	$1,040,000
	$250,370 

	Net Plant and Equipment
	$1,235,370
	$1,859,000
	$623,630 

	   Total Assets
	$4,532,717
	$5,639,300
	$1,106,583 

	
	
	
	

	Liabilities & Owner's Equity
	
	
	

	   Current Liabilities
	
	
	

	Accounts Payable
	$89,632
	$150,750
	$61,118 

	Accrued Expenses
	$45,450
	$55,500
	$10,050 

	Short-term Notes
	$475,250
	$530,800
	$55,550 

	   Total Current Liabilies
	$610,332
	$737,050
	$126,718 

	Long-term Debt
	$788,500
	$750,558
	($37,942)

	Total Liabilities
	$1,398,832
	$1,487,608
	$88,776 

	Common Stockholders' Equity
	
	
	 

	Common stock - Par Value
	$1,540,400
	$1,250,000
	($290,400)

	Paid in Capital
	$451,485
	$400,000
	($51,485)

	Retained Earnings
	$1,142,000
	$2,501,692
	$1,359,692 

	   Total Common Stockholders' Equity
	$3,133,885
	$4,151,692
	$1,017,807 

	   Total Liabilities & Stockholders' Equity
	$4,532,717
	$5,639,300
	$1,106,583 


Lastly, Deniz Holiday Village’s board of directors decided to distribute $ 534,250 to shareholders as dividends.

b) Construct Deniz Holiday Village Statement of Cash Flow for the year ended December 31st, 2013. (4 Points)

c) Calculate the retention ratio. Interpret your finding. (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

d) Based solely on the cash flow statement prepared in part b), write a brief narrative that describes the major activities of Deniz Holiday Village in year 2013 . (2 Points)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

3. Suppose you would like to quadruple your investment. For this purpose, you deposited in a bank $ 357,801 to be compounded quarterly at an interest rate of 10.75 %. Calculate the period needed to reach your objective? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

4. After examining the various interest rates opportunities, you find that you can invest in a finance company at 7.75 % compounded semi-annually, from bank A at 7.65 % compounded monthly or from Bank B at 7.61 % compounded continuously. Which alternative is the most attractive? Why? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------

5. Slimeni wanted to buy a home that costs € 475,000. He took a 5-year mortgage loan with semi-annual payments at an annual rate of 8.25 %.

a) How much will Slimeni pay each period? (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) Fill in the amortization schedule. (3 Points)

	Period
	Amount Owed on the Principal (Beg. Period) (€)
	Annuity Payment (€)
	Interest Portion of the Annuity (€)
	Repayment of the Principal Portion of the Annuity (€)
	Outstanding Loan Balance (€)

	
	
	
	
	
	

	1
	 
	 
	 
	 
	 

	2
	 
	 
	 
	 
	 

	3
	 
	 
	 
	 
	 

	4
	 
	 
	 
	 
	 

	5
	 
	 
	 
	 
	 

	6
	 
	 
	 
	 
	 

	7
	 
	 
	 
	 
	 

	8
	 
	 
	 
	 
	 

	9
	 
	 
	 
	 
	 

	10
	 
	 
	 
	 
	 


c) Suppose that exactly after 2 years, mortgage interest rates fell to 5.25 %. If Slimeni has the chance to refinance his loan at that very interest, how much would he pay (on a semi-annual basis) for the remaining 3 years of the loan? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

d) If such a refinance opportunity is associated with paying a prepayment penalty fee to the bank of € 7,500 would Slimeni refinance his loan? Why? Why not? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

6. BJK Corporation expects to generate the following cash flows for the next 10 years from Vodafone Arena Stadium:

· ($ 7,475,230) now.

· $ 2,550,650 at the end of year 1 through 4

· ($ 250,250) at the end of year 5

· $ 3,000,000 at the end of year 6 through 9

· $ 4,050,050 at the end of year 10

Follow steps shown in class by your instructor to find the present value of these estimated cash flows if the prevailing interest rate is 19.03 %? (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

7. Upon evaluation of the distribution of returns of Bala company, the following possible rate of returns for the upcoming period as long as their probability of occurrence are estimated:

	Probability of Occurrence
	Rate of Return on Investment

	
	

	4%
	-20.52%

	8%
	-10.04%

	8%
	-2.36%

	16%
	4.44%

	16%
	9.98%

	24%
	15.47%

	24%
	18.00%


a) Calculate the Expected Rate of Return of Bala Company stock. (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) What is the risk of the investment in Bala Company stock as measured using the standard deviation of possible future rates of return? (2 Points)

8. --------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

9. İlnan bought some stocks of Mansız Company worth of 1,750,000 TL 10 years ago. Following is the beginning value of İlhan’s bought stocks 10 years ago as well as the values at the end of each year up until today (the end of year 10):

	Year
	Annual Rate of Return
	Stock Value (TL)

	
	
	

	0
	 
	1,750,000.00

	1
	2.45%
	1,792,875.00

	2
	3.03%
	1,847,199.11

	3
	-1.02%
	1,828,357.68

	4
	-2.55%
	1,781,734.56

	5
	5.87%
	1,886,322.38

	6
	3.33%
	1,949,136.91

	7
	6.86%
	2,082,847.71

	8
	-0.84%
	2,065,351.79

	9
	2.77%
	2,122,562.03

	10
	8.24%
	2,297,461.14


a) What will be the annual rate of return that İlhan expects to earn next year, if he plans to continue holding Mansız Company stocks? (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) What annual rate of return that İlhan expects over a multi-year horizon from holding Mansız Company stocks? (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

10. Suppose you recently graduated from Bilkent University Department of Tourism & Hotel Management and you are evaluating an investment in two companies’ common stocks. You have collected the following information about common stock of Firm A and Firm B:

	
	Expected Return
	Standard Deviation

	
	
	

	Firm A's Common Stock
	14.44%
	8.21%

	Firm B's Common Stock
	25.55%
	16.77%

	
	
	

	Correlation Coefficient (A - B)
	0.65


Furthermore, suppose you decided to invest 40 % of your fortune in company A’s common stock and the remaining in company B’s common stock.

a) What is the Expected Rate of Return on your selected portfolio? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) What is the Risk of your portfolio measured as a standard deviation? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

c) If the correlation coefficient between common stocks A & B returns falls to 0.24, calculate the Expected Rate of Return and Risk on your portfolio? What do you conclude? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

GOOD LUCK!
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